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LÃ[˝”Ã[˝› ◊X„V¤` / Important Instruction 

%ÁGÁ]› ◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘ÁÃ^ (T.E. Exam.) XT«ˆX [˝Ó[˝ÿöˆÁ %UÔÁd Y“`¬ac˜ =w¯Ã[˝ Y«◊ÿôˆEıÁ (QPAB) Y“[˝Tˆ¤X EıÃ[˝Á c˜„[˝* 
Ac˜O XT«ˆX [˝Ó[˝ÿöˆÁÃ[˝ aÁ„U YÃ[˝›l˘ÁUfi„VÃ[˝ %\ˆÓÿöˆ EıÃ[˝ÁÃ[˝ LXÓ [˝Tˆ¤]ÁX %X«`›_X Y‰y Y“◊Tˆ◊ªRÙO Y“‰`¬Ã[˝ ◊X„V¤` %X«^ÁÃ^› 
◊X◊V¤rÙ ÿöˆÁ„Xc˜O =w¯Ã[˝ ◊V„Tˆ c˜„[˝* 
New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the 
coming Term End Examination. To get the candidates acquainted with the new system, 
now assignment answer is to be given in the specific space according to the instructions. 

Detail schedule for submission of assignment for the 
BDP Term End Examination December-2019 & June-2020 

1. Date of Publication : 14/02/2020 
2. Last date of Submission of answer script  by the student to the study 

centre 
: 07/03/2020 

3. Last date of Submission of marks by the examiner to the study centre : 08/04/2020 
4. Date of evaluated answer scripts distribution by the study centre to 

the students (Students are advised to check their assignment marks 
on  the evaluated answer scripts and marks lists in the study centre 
notice board. If there is any mismatch / any other problems of marks 
obtained and marks in the list, the students should report to their 
study centre Co-ordinator on spot for correction. The study centre is 
advised to send the corrected marks, if any, to the COE office within 
five days. No change / correction of assignment marks will be 
accepted after the said five days. 

 
 
 
 
 
 
 
 
: 18/04/2020 

5. Last date of submission of marks by the study centre to the 
Department of C.O.E. on or before 

 
: 20/04/2020 
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Â^-ÂEıÁ„XÁ YgÁªJÙ◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 10 × 5 = 50 

Answer any five questions : 

1. ◊X∂oˆ◊_◊FTˆ Y◊Ã[˝aeFÓÁ ◊[˝\ˆÁL„XÃ[˝ ]W˝Ó]Á 46 c˜„_, %X«N˛ Y◊Ã[˝aeFÓÁm◊_ ◊XSÔÃ^ EıÃ[˝”X :  10 

Ê`“S› [˝Ó[˝W˝ÁX 10-20 20-30 30-40 40-50 50-60 60-70 70-80 

Y◊Ã[˝aeFÓÁ 12 30 ? 65 ? 25 18 

 AFÁ„X Â]ÁªRÙO Y◊Ã[˝aeFÓÁ = 229. 

 If the median of the following frequency distribution (where the total frequency is 229) is 
46, find the missing frequencies : 

Class interval 10-20 20-30 30-40 40-50 50-60 60-70 70-80 

Frequency 12 30 ? 65 ? 25 18 

=w¯Ã[˝ / Answer : 
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2. X›‰ªJÙÃ[˝ TˆUÓ ÂU„Eı Â^Ï◊GEı GQÕˆ C V«◊ªRÙO ªJÙT«ˆUÔEı 31,QQ  ◊XSÔÃ^ EıÃ[˝”X :  10 

x 10 20 30 40 50 60 70 80 90 100 
f 140 133 118 100 75 45 25 9 2 0 

 Find the mean and the two quartiles 31,QQ  from the following data : 

x 10 20 30 40 50 60 70 80 90 100 

f 140 133 118 100 75 45 25 9 2 0 

=w¯Ã[˝ / Answer : 
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3. X›‰ªJÙÃ[˝ Y◊Ã[˝aeFÓÁ ◊[˝\ˆÁL„XÃ[˝ aeFÓÁmÃ[˝” ]ÁX aÁ„Y„l˘ GQÕˆ ◊[˝ªJ«ÙÓ◊Tˆ ◊XSÔÃ^ EıÃ[˝”X :  10 

Ê`“S› [˝Ó[˝W˝ÁX 60-62 63-65 66-68 69-71 72-74 

Y◊Ã[˝aeFÓÁ 5 18 42 27 8 

 Find the mean deviation about the mode of the following frequency distribution :  

Class interval 60-62 63-65 66-68 69-71 72-74 

Frequency 5 18 42 27 8 

=w¯Ã[˝ / Answer : 
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4. 5 ◊ªRÙO ]Á„XÃ[˝ ÂEıÁX X]«XÁÃ[˝ Â^Ï◊GEı GQÕˆ 4·4 A[˝e Â\ˆV]ÁX 8·24* ^◊V 3 ◊ªRÙO ]ÁX 4, 6 A[˝e 9 c˜Ã^ Tˆ„[˝ X]«XÁÃ[˝ 

%YÃ[˝ V«◊ªRÙO ]ÁX ◊XSÔÃ^ EıÃ[˝”X* 10 

 The mean of a sample with 5 values is 4·4 and variance is 8·24. If the three values are 4, 
6 and 9 then find the other two values of the sample.  

=w¯Ã[˝ / Answer : 
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5. X›‰ªJÙÃ[˝ TˆUÓ ÂU„Eı x C y-AÃ[˝ ]„W˝Ó ac˜GÁ„·¯Ã[˝ ]ÁX ◊XSÔÃ^ EıÃ[˝”X :  10 

x 32 38 48 43 40 22 41 69 35 64 

y 30 31 38 43 33 11 27 76 40 59 

 Find, from the following data the correlation coefficient between x and y : 
x 32 38 48 43 40 22 41 69 35 64 

y 30 31 38 43 33 11 27 76 40 59 

=w¯Ã[˝ / Answer : 
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6. ÂEıÁX a]„Ã^Ã[˝ [˝Ó[˝W˝Á„X L›◊[˝EıÁ ◊X[˝ÔÁc˜X [˝ÓÃ^a…ªJÙEı aeFÓÁ 110 ÂU„Eı 200 c˜_ A[˝e AEıLX `“◊]„EıÃ[˝ Â[˝TˆX       

325 ªRÙOÁEıÁ ÂU„Eı 500 ªRÙOÁEıÁ c˜_* AÃ[˝ Zı„_ `“◊]Eı◊ªRÙO ◊Eı Y“E ıTˆ Y„l˘ _Á\ˆ[˝ÁX c˜„[˝ ? =w¯„Ã[˝Ã[˝ a]UÔ„X ^«◊N˛ 

◊VX* 10 

 During a certain period the cost of living index number goes up from 110 to 200 and the 

salary of a worker is also raised from Rs. 325 to  Rs. 500. Does the worker really gain ? 

Give reasons for your answer. 

=w¯Ã[˝ / Answer : 
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7. Y“Vw¯ Ã[˝Á◊`]Á_ÁÃ[˝ Âl˘‰y AEı◊ªRÙO 4  [˝ªK˜„Ã[˝Ã[˝ %Á[˝Tˆ¤EıÁ_^«N˛ [˝Á◊SLÓ ªJÙ„y‘Ã[˝ %◊ÿôˆ±ºˆ W˝„Ã[˝ ◊X„Ã^ =Y^«N˛ YV ◊[˝◊`rÙ 

ªJÙ_]ÁX GQÕˆ Yà˘◊Tˆ„Tˆ Y“[˝STˆÁÃ[˝ ]ÁX ◊XSÔÃ^ EıÃ[˝”X :  10 

[˝ªK˜Ã[˝ 1941 1942 1943 1944 1945 1946 1947 1948 1949 1950 

=dYÁVX 464 515 518 467 502 540 557 571 586 612 

 Assuming a four-yearly business cycle, calculate the trend values by the method of 
moving averages with suitable number of terms from the following data : 

Year 1941 1942 1943 1944 1945 1946 1947 1948 1949 1950 
Production 464 515 518 467 502 540 557 571 586 612 

=w¯Ã[˝ / Answer : 
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8. Lagrange-AÃ[˝ %‹ôˆfY“„l˘YS a…‰yÃ[˝ aÁc˜Á„^Ó ◊X∂oˆ◊_◊FTˆ ªK˜„EıÃ[˝ y-AÃ[˝ %X«N˛ ]ÁXm◊_ ◊XSÔÃ^ EıÃ[˝”X :  10 

x 10 15 20 25 30 35 

y 19·97 21·51 ? 23·52 24·65 ? 

 Find by Lagrange's interpolation formula the missing values of y in the following table : 
x 10 15 20 25 30 35 
y 19·97 21·51 ? 23·52 24·65 ? 

=w¯Ã[˝ / Answer : 
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9. (a) ^«◊N˛ac˜ ◊X∂oˆ◊_◊FTˆ [˝N˛[˝Óm◊_Ã[˝ aTˆÓ-◊]UÓÁ ^ÁªJÙÁc˜O EıÃ[˝”X :  4 

  State with reasons whether the following statements are true or false : 
(i) { 1, 2, 3 } = { 2, 3, 6 } 
(ii) { 5, 6 } ∈  { 1, { 1, 3, }, { 5, 6 } } 
(iii) φ ∈  { 10, 20, 0 } 
(iv) { 0 } = φ  

 (b) aÁ◊[˝ÔEı ÂaªRÙO U = { 0, 1, 2, 3, 4, 5, 6, 7, 8 } c˜„_ A = { 0 }, B = { 3, 4, 7, 8 } ÂaªRÙO V«◊ªRÙOÃ[˝ Âl˘‰y       

◊Qˆ-]GÔÁ„XÃ[˝ a…y V«◊ªRÙOÃ[˝ aTˆÓTˆÁ ^ÁªJÙÁc˜O EıÃ[˝”X* 6 

  If the universal set U = { 0, 1, 2, 3, 4, 5, 6, 7, 8 }, verify the two laws of De Morgan for 
the two sets A = { 0 }, B = { 3, 4, 7, 8 }. 

=w¯Ã[˝ / Answer : 
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10. (a) Â^ ÂEıÁ„XÁ ◊TˆX◊ªRÙO HªRÙOXÁ A, B C C-AÃ[˝ LXÓ Y“]ÁS EıÃ[˝”X Â^  
  )()()()( CPBPAPCBAP ++≤∪∪ .  5 
  For any three events A, B and C, prove that  
  )()()()( CPBPAPCBAP ++≤∪∪ . 

 (b) AEı◊ªRÙO a«a]ta ]«V–Á [˝ÁÃ[˝[˝ÁÃ[˝ =d„l˘YS EıÃ[˝Á c˜_ ^Tˆl˘S Y^Ô‹ôˆ XÁ "ÊªRÙO_' Y‰QÕˆ* ^◊V Y“U] "ÊªRÙO_' YQÕˆÁÃ[˝ 

%Á„G ^Tˆ[˝ÁÃ[˝ "Âc˜Qˆ' Y‰QÕˆ TˆÁÃ[˝ aeFÓÁ x c˜Ã^ A[˝e   x ^◊V ÂEıÁX aïˆÁ[˝XÁ`“Ã^› ªJÙ_Eı X-AÃ[˝ ]ÁX c˜Ã^ Tˆ„[˝ 

)(XE -AÃ[˝ ]ÁX ◊XSÔÃ^ EıÃ[˝”X* 5 

  A fair coin is tossed repeatedly till a 'tail' appears. If the number of 'heads' appearing 
before the first 'tail' appears, be x and if x be the value of a random variable X, find 
the value of )(XE . 

=w¯Ã[˝ / Answer : 
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